Homework 2 solutions

E 14. The speed increases (changes) are the same during the entire free fall. The change is equal
to the acceleration, which is the same during the fall (g = -9.8 m/s’). See, for example Fig. 1.2.3

E.15. Regardless of their horizontal components of velocity, all objects fall at the same rate. The
ball and bullet descend together.

E.18. He should kick the ball as high as possible. The time of flight is only determined by the
height of the kick (in the y-direction , the ball needs to go up and fall back down).

E.19. In the absence of air effects, a ball hit at 45° above horizontal will travel farthest. A ball hit
higher or lower won’t travel as far. (see class slides)
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